
1. At an effective interest rate of i, i > 0, both of the following annuities have a present
value ofX:

(i) a 20-year annuity immediate with annual payments of 40
(ii) a 30-year annuity immediate with annual payments of 25 per year for the first 10
years, 50 per year for the second 10 years, and 7 5 per year for the final 10 years.
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3. At an effective annual interest rate i, you are given:
(i) the present value of an annuity-immediate with annual payments of I for n years is

50.00; and
(iD the present value of an annuity-immediate with annual payments of I for 3nyears
is 68.37.
Calculate the accumulated value of an annuity-immediate with annual payments of I for
2nyearc. [3.g #06]
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4. Samantha receives a 18,000 life insurance benefit. If she uses the proceeds ,o *"#
n-yeil immediate annuity, the annual payout will be 2024. lf a2n-year immediate
annuity is purchased, the annual payout will be 1522. Both calculations are based on
an effective annual interest rate of i.
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5. At arate of interest, i, where i) 0, a44-year annuity immediate with annual payments
of $9 has the same present value as a2T-year annuity-immediate with annual payments
of$1 1.

In how many year does money double atrate of interest, i? [3.g #08]
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